Brake — Time vs Velocity & Forces

- Velocity {norm.)
1 = |_padCell i
- FSR
. 08 ] -
£
o 0.6 -
=
3 04 -
o
L
0.2 | -
0 i a1
0.2 ] ] ] ] ] ]
0 20 40 60 80 100 120
Time (s)
Brake — Time vs Velocity & Forces
I I I I r
- Velocity {norm.)
1 = |_padCell
—FSR
. 0.8 | -
= |
S 0.6 i ' -
=
3 04 l : -
o
L
0.2 -
0
-0.2 | | | | |
0 20 40 60 80 100
Time (s)
Brake — Time vs Velocity & Forces
I I I I I - I
- Velocity {norm.)
1} . - LoadCell
——FSR |
. 0.8
£
o 0.6 r
= .
3 o4f |
o I
L I
0.2 | '
0.2 ] ] ] ] ] ]
0 20 40 60 80 100 120

Time (s)



